Kuta Software - Infinite Algebra 1

Solving Systems of Equations by Graphing

Solve each system by graphing.
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Solving Systems of Equations by Graphing Date Period

Solve each system by graphing.
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Solving Systems of Equations by Substitution Date Period o ¢
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Solve each system by substitution. or E / lPliré /70/) e i
1) y=6x-11 2) 2x-3y=-1
—2x—-3y=-7 y=x-1
3) y=-3x+35 4) -3x-3y=3
S5x—4y=-3 y=-5x-17
=5x-17 -
5 y=-2 o 3’_3 xS_x 2y=-12 &
4x-3y=18 =

g) —-7Tx-2y=-13

7) —§x+y=gl x-2y=11
—Sx-y=
. ) 10) =5x +8y=;i
9) —Sx+y=- 3x—8y=
_3x+6y=—12
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Solve each system by substitution.

1) y=6x-11
—2x—-3y=-7

(2.1)

3) y=-3x+5
5x—4y=-3

(1,2)

5) y=-2
4x-3y=18

(3,-2)

7 4x+y=6
Sx-y=21

(-3,-6)

9) =5x+y=-2
-3x+6y=-12

(0.-2)

2) 2x=3y=+l
y=x-1

(4. 3)

4) -3x-3y=3
y==-5x-17

(-4, 3)

8) —Tx—2y=-13

x-2y=11
(3,-4)
10) =5x+y=-3
3x-8y=24
(0.-3)
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— Writing Linear Equations Date Period

Write the slope-intercept form of the equation of each line.

1) 3x-2y=-16 2) 13x-11y=-12
3) x=Ty=-7 4) x—3y=6

5) 6x+5y=-15 6) 4x—y=1
7 1lx—4y=32 8) 11x-8y=-48

Write the standard form of the equation of the line through the given point with the given slope.

9) through: (1,2), slope=7 10) through: (3,-1), slope=-1

5
11) through: (=2, 5), slope=—4 12) through: (3, 5), slope = 3
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Writing Linear Equations Date Period
Write the slope-intercept form of the equation of each line.
1) 3x-2y=-16 2) 13x—-11y=-12
3 13 12
y=—x+8 pum——gd—
2 111
3) 9x—7y=-—7 4) x—3y=6
1
y=—x+1 y=—x- y)
7 3
5) 6x+5y=-15 6) 4x—y=1
6 y=4x—1
y=——x-23
5
7) 11x—4y=32 8) 11x—-8y=-48
11
11 —
Y= oS v= 8)c+6

e standard form of the equation of the line through the given point with the given slope.

Write th
9) through: (1 2), slope=7 10) through: (3, -1), slope=-1
Tx—y=95 x+y=2
5
11) through: (-2, 5), slope = 4 12) through: 3. 5)’ qlome =§
+y=-3
M S5v-3y=0
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Create your own worksheets like this one with Infinite Geometry. Free trial available at KutaSoftware.com \
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Create your own worksheets like this one with Infinite Algebra 1. Free trial available at KutaSoftware.com
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13) b*-6b+8

15) 2n% +6n-108

17) 2k + 22k + 60

19) p+11p+10

21) 2p*+2p-4

23) x2-15x+50

25) p*+3p-18

/Z(/]C 7L¢}f/}/‘lj

14) n* +6n+38 (& iy )

16) 5n* +10n+20

18) a* —a-90

20) 5v? - 30v+40

22) 4v* —4v-38

24) v - Tv+10

26) 6v* + 66v + 60
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13) b*-6b+8
b-4)b-2)

15) 2n% + 6n - 108
2n+9)(n - 6)

17) 2k + 22k + 60
2k +5)(k +6)

19) p*+11p+10
(p+ ]O)(p+ 1)

21) 2p*+2p-4
2p-1)p+2)

23) x*-15x+50
(x-10)(x-5)

25) pt+3p-18
(p—3)p+6)

14) n* +6n+8
(n+2)(n+4)

16) 51 + 10n + 20
5(n* +2n+4)

18) a*-a-90
(@a—10)a+9)

20) 5v* = 30v+40

5(v-2)v-4)
22) 4 -4y -8
(v +1)(v - 2)

24) v =Tv+10
(v - 5)(v — 2}

26) 6v* + 66v + 60
6(v + 10)(v + 1)

/4%/ wer (i

| Create your own worksheets like this one with Infinite Algebra 1. Free trial available at KutaSoftware.com
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Kuta Software - Infinite Algebra 1
Factoring Trinomials (a > 1)
Factor each completely.

1) 3p*-2p-5

3) 3n*-8n+4

5) 2v? +11v+5

7) 7a* +53a+ 28

Name

Date Period f\

2) 2n2 +3n-9

4) 5n* +19n+12

6) 2n* +5n+2

8) 9k* + 66k + 21
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Factoring Trinomials (a > 1)
Factor each completely.
) 3p*-2p-5

Bp-3)Np+1)

3) 3n*-8n+4
(3n - 2)(n - 2)

5) 23+ 11v+5
(@v+1)v+5)

7) 7a* +53a+28
(7a+4)a+7)

- AKWMM Vey

Date Period_____

2) 2n* +3n-9
(2n-3)n+3)

4) 5n* +19n + 12
(511 +4)(n +3)

6) 2n* +5n+2
(20 + 1)(n + 2)

8) 9k* + 66k + 21
3(3k+ 1)(k+7)
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